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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
wote frRERe oS S

(a) The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )
SR WiF Sy SREee Al
PSS W IR T LA TN / BS / SR

M |
( wm Reseot A Sfrsal )
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(b)

(c)

(d)

(e)

(1
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Every compound statement is truth-

functional. Is it true?
O AT IWER TSl TS | G20
TOJA ?

Pv4
Lol 4
g
What is the name of this rule?
@3 FEGR 9N /7
Who is the author of the book,

Prior Analytics?
Prior Analytics 3339 143 @197

A conjunctive function is true if any one
of the conjuncts is true. Is this statement
correct?

ol TRAGE T G =W IFE T R @I
9Bl AT 7S] 2 | FARIT AN 7

Shorter truth table method is a part of
propositional logic / predicate logic.
( Choose the correct option )
5y A AErE TSl Oifeel AR e
SHR@IN / Reanee SReiwg a5 =i |
( wm Resco! A Sfasat )

( Continued )

Fias

Give an example of subjectless proposition.

SrweRe oW1 |5l e il |

Truth or falsity is a property of logic /
proposition / argument.
( Choose the correct option )

sorel WZA TGSl (TR SEREN / I /
Feg o |

(g

(h)

( W% s A Sfersal )

(i) 1deograms directly stand for
( Fill in the blank )
A 22 dermer o I
(AR o} [ )
(i) Are symbols and signs same?

4o F Bz a@ @R6?

2. Answer the following questions in brief : 2x5=10

oo oMTART oY T i
(a) Give the definition of a proposition
according to modern logic.

e SHRE SR TR RS

Write two distinctions between logical
constant and variable.

o 7T W 5 A AREST AEwS 49 7!
gy ferat |

(b)
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(c)

(d)

(e)

(a)

A23/759
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If A and B are true statements and X and
Y are false statements, then determine
whether the following is true or false :
It A WIF B A9 W oF X A Y 9 T,
(SR T Ser fRIIeh! 3197 (§ Sprey faefy 4t
(Av X).(Y v B)

Mention two similarities between direct
and indirect truth table.

ASTF GIF AWF TS Oifedly 75! Ayt
O 74

Symbolize the following statements :
&R ffomze aONT F1S o w4
(i) If it doesn’t rain, then we shall go for
picnic.
3 It M, o' Wiy Freree
|
(ii) It is false that Russia has won the
war

20! Rl @ IR g e |

3. Answer any four of the following questions :
5x4=20
O 2TRY R @i oif¥be Se frar

Write a short note on the characteristics
of symbolic logic.

AOPIYe SFRwT Whigps R o
Gt ferait | A

( Continued )

(b)

(c)

(d)

(e)

(t)
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$i8

Distinguish between general proposition
and class-membership proposition.

AL I59 TF N TS 57 TS AN
et 4t |

What is meant by interdefinability among
truth-functions? Explain.

Fopel TP WEW  WEORS  (inter-
definability) 3Fmet & @127 Ayt 34t

Distinguish between inclusive and exclusive
sense of disjunctive truth-function.

Rrares Torel e TEeie SiE Rsie ¢
751 “A1LFy et 4 |

State the rules of inference that are used
for constructing formal proof of validity.

e FIRT A 0N P I I
Seie foTe S |

Write a short note on the uses of symbols
in logic.

wRErTe e e @ afb 5 Gl
forat |
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4. Answer the following questions : 10x4=40

To TR O@d fol -

(a) What is general proposition? Explain the
classifications of general proposition with
proper examples. 2+8=10
Ay I+ F2 TS THZIPIZ AKRT B9
erffRerE Py 4|

Or / 9491
Discuss - the points of similarities and
dissimilarities between traditional and

modern logic.
sl WE e SFREE e 23
Ay S CPTIPIPTR. oAl 4 |

(b) What is logical connective? Give brief

introduction to different kinds of logical
connectives used in symbolic logic. 2+8=10

SER MEEE W T2 4SRN SHRwTe
e @ ffes o A@ETEHRE T

S5 SR |

Or / 931
What is symbol? What is the role of
symbols in translating our everyday
language? 2+8=10

Ae1% 59 I e SieTe g@e 31 ST
R T CFAS AT PR WA 4 |

A23/759 ( Continued )

(c)

(d)

A23/759

What is truth-function? Construct truth
table for the basic truth-functions. 2+8=10

Tors! T 7 (f AOTEEE AW
Mool oifet 5w 34 |

Or / 911

What is indirect truth table method?
Construct indirect truth table to determine
the validity or invalidity of the following

arguments : 2+4+4=10
oar® ool Sifeel {59 o IR (el

31 At el SR s ool Sifert
o T[4

() (R.QVS
R
L PAE R
(i) (PVQ).[~5.Q
~ S
Nl

What is formal proof of validity? What are

the strategies for constructing a formal
proof of validity? Discuss. 2+8=10
o SRS il 67 RYOR RIS
oet a5 iRt 5 fe (PP efwlel o9t A2
STEGN 4
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{8 )

Or / 331

Construct a formal proof of validity for the
following arguments : 5+5=10

OO JEIHRT P! @O PSS AN a1
¥4 .

(i) (~K.P)D(BVR)

~ K D (B D D)

~KV(RDE)

R e D E

i) B D(E.~'G)

(FVG) D H
E i
* % *
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